# RINGS WITH ( $\mathbf{a}, \mathrm{b}, \mathbf{a}$ ) AND COMMUTATORS IN THE RIGHT NUCLEUS 

${ }^{1}$ M. MANJULA DEVI*, ${ }^{\mathbf{2}}$ K. SUVARNA<br>1,2Department of Mathematics,<br>Sri Krishnadevaraya University, Anantapuramu-515003, (A.P.), India.

(Received On: 30-11-15; Revised \& Accepted On: 28-12-15)


#### Abstract

In this paper we show that if $R$ is a nonassociative simple ring satisfying ( $a, b, a$ ) and ( $R, R$ ) are in the right nucleus $N_{r}$, then $(a, b, a)$ and $(R, R)$ are in the left and middle nuclei of $R$. Using these properties we prove that $(a, b, a)$ and $(R, R)$ are in the center $C$ of $R$. Also it is shown that $R$ is commutative.


Mathematics subject classification: Primary 17A30.
Keywords: Simple Ring, Nucleus, Center

## INTRODUCTION

Thedy [2] studied rings with commutators in the nuclei. In [1] Kleinfeld obtained Thedy's hypothesis in nonassociative semiprime rings with ( $\mathrm{x}, \mathrm{y}, \mathrm{x}$ ) and commutators in the left nucleus. In this paper we consider a nonassociative ring R with ( $a, b, a$ ) and $(R, R)$ are in the right nucleus $N_{r}$. We prove that if $R$ is a simple ring, then $(a, b, a)$ and $(R, R)$ are in the left and middle nuclei of $R$. Using these properties we show that ( $a, b, a$ ) and ( $R, R$ ) are in the center $C$ of $R$. Also it is shown that R is commutative.

## PRELIMINARIES

The associator is defined by $(x, y, z)=(x y) z-x(y z)$ and the commutator $(x, y)=x y-y x$ for all $x, y, z$ in $R$. We define the left nucleus $N_{l}=\{n \in R /(n, R, R)=0\}$, the right nucleus, $N_{r}=\{n \in R /(R, R, n)=0\}$ and the middle nucleus, $\mathrm{N}_{\mathrm{m}}=\{\mathrm{n} \in \mathrm{R} /(\mathrm{R}, \mathrm{n}, \mathrm{R})=0\}$.

The nucleus N of R is defined as $\mathrm{N}=\{\mathrm{n} \in \mathrm{R} /(\mathrm{n}, \mathrm{R}, \mathrm{R})=(\mathrm{R}, \mathrm{n}, \mathrm{R})=(\mathrm{R}, \mathrm{R}, \mathrm{n})=0\}$, that is, $\mathrm{N}=\mathrm{N}_{\mathrm{l}} \cap \mathrm{N}_{\mathrm{m}} \cap \mathrm{N}_{\mathrm{r}}$ and the center $\mathrm{C}=\{\mathrm{c} \in \mathrm{N} /(\mathrm{c}, \mathrm{R})=0\}$.

Throughout this paper we consider a ring R with
(i) $(\mathrm{a}, \mathrm{b}, \mathrm{a}) \subset \mathrm{N}_{\mathrm{r}}$ and
(ii) $(\mathrm{R}, \mathrm{R}) \subset \mathrm{N}_{\mathrm{r}}$

In every ring the following identity holds:
$(w x, y, z)-(w, x y, z)+(w, x, y z)=w(x, y, z)+(w, x, y) z$.
If $S(x, y, z)=(x, y, z)+(y, z, x)+(z, x, y)$, then $(x y, z)+(y z, x)+(z x, y)=S(x, y, z)$.
Consequently, using (ii) we have
$\mathrm{S}(\mathrm{x}, \mathrm{y}, \mathrm{z}) \subset \mathrm{N}_{\mathrm{r}}{ }^{-}$
Moreover, in every ring we have the identity
$(x y, z)=x(y, z)+(x, z) y+S(x, y, z)-(x, z, y)-(y, z, x)$.
A linearization of (i) implies
$(\mathrm{x}, \mathrm{z}, \mathrm{y})+(\mathrm{y}, \mathrm{z}, \mathrm{x}) \subset \mathrm{N}_{\mathrm{r}}$

Then combining this with the above equation (2) and (ii), we obtain $\mathrm{x}(\mathrm{y}, \mathrm{z})+(\mathrm{x}, \mathrm{z}) \mathrm{y} \subset \mathrm{N}_{\mathrm{r}}$.

Suppose that $\mathrm{n} \in \mathrm{N}_{\mathrm{r}}$. Then with $\mathrm{z}=\mathrm{n}$ in (1), we obtain
$(w, x, y n)=(w, x, y) n$.
Combining this with (ii), yields
$(w, x, y n)=(w, x, y) n=(w, x, n y)$.
A combination of (3) and (4) yields
$(r, s, x(y, z)+(x, z) y)=0$, that is
$(r, s, x(y, z))=-(r, s,(x, z) y)$. Thus
$(r, s, x)(y, z)=-(r, s, y)(x, z)$

## MAIN RESULTS

We assume that R is a simple ring. Then we know that the ideal of R is equal to zero or the ideal is equal to R . To prove the main results we consider R as a simple ring satisfying (i) and (ii). First we prove that following lemmas:

Lemma 1: If $T=\left\{t \in N_{r} /(R, R, R) t=0\right\}$, then $T$ is an ideal of $R$ and $(R, R, R) T=0$.
Proof: By substituting $t$ for $n$ in (4), we obtain
$(w, x, t y)=(w, x, y t)=(w, x, y) t=0$.
Thus $\mathrm{Rt} \subset \mathrm{N}_{\mathrm{r}}$ and $\mathrm{tR} \subset \mathrm{N}_{\mathrm{r}}$. Suppose that $\mathrm{t} \in \mathrm{T}$ and $\mathrm{Z} \in \mathrm{R}$
But (1) multiplied on the right by t gives
$\mathrm{w}(\mathrm{x}, \mathrm{y}, \mathrm{z}) . \mathrm{t}+(\mathrm{w}, \mathrm{x}, \mathrm{y}) \mathrm{z} . \mathrm{t}=0$.
So $(\mathrm{w}, \mathrm{x}, \mathrm{y}) \mathrm{z} . \mathrm{t}=-\mathrm{w}(\mathrm{x}, \mathrm{y}, \mathrm{z}) . \mathrm{t}=-\mathrm{w} .(\mathrm{x}, \mathrm{y}, \mathrm{z}) \mathrm{t}=0$.
We have (w, x, y)z.t = (w, x, y).zt.
$\therefore(\mathrm{w}, \mathrm{x}, \mathrm{y}) . \mathrm{zt}=0$.
From (5) we get
$(w, x, y)(t, z)=-(w, x, t)(y, z)=0$
This implies ( $\mathrm{w}, \mathrm{x}, \mathrm{y}$ ).tz $=(\mathrm{w}, \mathrm{x}, \mathrm{y}) . \mathrm{zt}$
Using (w, x, y). $\mathrm{zt}=0$, we obtain ( $\mathrm{w}, \mathrm{x}, \mathrm{y}$ ). $\mathrm{tz}=0$
Thus $T$ is an ideal of $R$ and $(R, R, R) T=0$. This completes the proof of the lemma.
Lemma 2: If R is a simple ring, then $\mathrm{T}=0$.
Proof: From lemma1 we know that T is an ideal of R .
Since R is simple, either $\mathrm{T}=0$ or $\mathrm{T}=\mathrm{R}$.
If $T=R$, then $(R, R, R) R=0$. Since $R$ is nonassociative, this is not possible.
So, $\mathrm{T} \neq \mathrm{R}$. Thus $\mathrm{T}=0$.
Lemma 3: If $R$ is a simple ring, then
$((a, b, a), R)=0$,
$((a, b), y, z)=0$,
and $((a, b, a), y, z)=0$.
Proof: Using (5) we see that
$(x, y, z)((a, b, a), c)=-(x, y,(a, b, a))(z, c)=0$, because of $(i)$.

This implies $((a, b, a), c) \subset T$.
Then using Lemma 2, we have ( $(\mathrm{a}, \mathrm{b}, \mathrm{a}), \mathrm{c})=0$, i.e. $((a, b, a), R)=0$.

This proves (6).
By the linearization of (i), we obtain
$(\mathrm{r}, \mathrm{s},((\mathrm{a}, \mathrm{b}), \mathrm{y}, \mathrm{x}))=(\mathrm{r}, \mathrm{s},(\mathrm{x}, \mathrm{y},(\mathrm{a}, \mathrm{b}))=0$.
Thus ((a, b), $y, x)$ is an element of $N_{r}$. Also (1) implies
$((a, b) x, y, z)-((a, b), x y, z)+((a, b), x, y z)=(a, b)(x, y, z)+((a, b), x, y) z$
By forming the associators both sides, we get
$(r, s,((a, b) x, y, z))-(r, s,((a, b), x y, z))+(r, s,((a, b), x, y z))=(r, s,(a, b)(x, y, z))+(r, s,((a, b), x, y) z)$
Hence $(r, s,((a, b) x, y, z))=(r, s,(a, b)(x, y, z))+(r, s,((a, b), x, y) z)$
Since ( $a, b$ ) $\subset N_{r}$ because of (ii) and using (4), we get
$(r, s,(a, b)(x, y, z))=(r, s,(x, y, z))(a, b)$ also
$(r, s,((a, b) x, y, z))=-(r, s,(z, y,(a, b) x))=-(r, s,(z, y, x)(a, b)=-(r, s,(z, y, x))(a, b)$
Thus $(r, s,((a, b), x, y) z)=-[r, s,((x, y, z)+(z, y, x))](a, b)=0$, using a linearization of (i).
But then (4) implies (r, s, z) ((a, b), $x, y)=0$.
So that $((a, b), x, y) \subset T$. Hence using Lemma 2 we obtain $((a, b), x, y)=0$.
This proves (7).
Using the linearization of (i), we obtain
$(r, s,((a, b, a), x, y)=-(r, s,(y, x,(a, b, a))=0$.
Thus ( $(\mathrm{a}, \mathrm{b}, \mathrm{a}), \mathrm{x}, \mathrm{y}) \subset \mathrm{N}_{\mathrm{r}}$. Also (1) implies
$((a, b, a) x, y, z)-((a, b, a), x y, z)+((a, b, a), x, y z)=(a, b, a)(x, y, z)+((a, b, a), x, y) z$.
By forming the associators both sides we get
$(r, s,(a, b, a), x, y) z)=(r, s,((a, b, a) x, y, z))-(r, s,(a, b, a)(x, y, z))$.
Since ( $\mathrm{a}, \mathrm{b}, \mathrm{a}$ ) $\subset \mathrm{N}_{\mathrm{r}}$ and using (4) we get
$\begin{aligned}-(r, s,(a, b, a)(x, y, z)) & =-(r, s,(x, y, z))(a, b, a) \text { also } \\ (r, s,(a, b, a) x, y, z) & =-(r, s,(z, y,(a, b, a) x)) \\ & =-(r, s,(z, y, x)(a, b, a)) \\ & =-(r, s,(z, y, x))(a, b, a)\end{aligned}$
Hence $(r, s,((a, b, a), x, y) z)=-(r, s,(x, y, z)+(z, y, x))(a, b, a)=0$, using (i).
Then using (4) implies (r, s, z) ((a, b, a), x, y) $=0$
So that ((a, b, a), x, y) T. Thus using Lemma 2
We obtain ((a, b, a), x, y) $=0$
This proves (8).
Theorem 1: If $R$ is a simple ring satisfying (i) and (ii), then ( $a, b, a$ ) and all commutators are in the center.
Proof: Using (5), we see that
$(\mathrm{x}, \mathrm{y}, \mathrm{z})((\mathrm{a}, \mathrm{b}), \mathrm{c})=-(\mathrm{x}, \mathrm{y},(\mathrm{a}, \mathrm{b}))(\mathrm{z}, \mathrm{c})=0$, because of (ii)
This implies that $((\mathrm{a}, \mathrm{b}), \mathrm{c}) \subset \mathrm{T}$. Then by using Lemma 2 we have $((\mathrm{a}, \mathrm{b}), \mathrm{c})=0$.
i.e. $((a, b), R)=0$

We know that the following identity is valid in any ring:
$(x y, z)=x(y, z)+(x, z) y+(x, y, z)+(z, x, y)-(x, z, y)$.
By putting $z$ equal to a commutator ( $\mathrm{a}, \mathrm{b}$ ), we get
$(x y,(a, b))=x(y,(a, b)+(x,(a, b)) y+(x, y,(a, b))+((a, b), x, y)-(x,(a, b), y)$
Using (9), (ii) and Lemma3, we get ( $x,(\mathrm{a}, \mathrm{b}), \mathrm{y})=0$.

Similarly by substituting $\mathrm{z}=(\mathrm{a}, \mathrm{b}, \mathrm{a})$ in (10), we obtain ( $\mathrm{x},(\mathrm{a}, \mathrm{b}, \mathrm{a}), \mathrm{y}$ ) $=0$.

From (i), (8), (12) and (6), it follows that (a, b, a) is in the center of $R$.
Hence from (ii), (7), (11) and (9), it follows that all commutators are in the center.
Theorem 2: If R is a simple ring satisfying (i) and (ii), then R is commutative.
Proof: We write

$$
\begin{align*}
((R, R) R, R) & =(R, R) R \cdot R-R \cdot(R, R) R \\
& =(R, R) R \cdot R-R(R, R) \cdot R, \text { using }(11) \\
& =(R, R) R \cdot R-(R, R) R \cdot R, \text { using }(9) \\
& =(0) . \tag{13}
\end{align*}
$$

Thus ( $(\mathrm{R}, \mathrm{R}) \mathrm{R}, \mathrm{R})=(0)$.
Now

$$
\begin{aligned}
(R, R, R(R, R)) & =(R R) \cdot R(R, R)-R \cdot(R \cdot R(R, R)) \\
& =(R R) \cdot R(R, R)-R \cdot((R R) \cdot(R, R)), \text { using (ii) } \\
& =(R R) \cdot R(R, R)-R \cdot((R, R) \cdot(R R)), \text { using }(9) \\
& =(R R) \cdot R(R, R)-R(R, R) \cdot(R R), \text { using }(11) \\
& =(R R) \cdot R(R, R)-(R R) \cdot R(R, R), \text { by }(13) \\
& =(0) .
\end{aligned}
$$

So $(R, R, R(R, R))=0$.
Since ( $R, R$ ) $\subset N_{r}$ and using (4), we get
$(R, R, R)(R, R)=0$
Thus $(R, R) \subset T$. Then using lemma2 we get $(R, R)=(0)$.
Hence R is commutative.

## REFERENCES

1. Kleinfeld, E., Rings with (x, y, x) and commutators in the left Nucleus, Comm. Algebra, 16 (1988), pp.2023-2029.
2. Thedy, A., On Rings with Commutators in the Nuclei, Math.Z. 119 (1971), pp.213-218.
3. Yen, C.T., Simple rings of characteristic not 2 with associators in the left nucleus are associative, Tamkang Journal of Math., Vol. 33 (1) (2002), pp.93-95.

## Source of support: Nil, Conflict of interest: None Declared

[Copy right © 2015. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]

